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xscore == scorel[0]
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(array.c)

rZ74 71k

#define SIZE 3 HI QA0 =A
int main(void) {
int score[] = { 89, 98, 76 };

#include <stdio.h> [ 0|2 score= A

printf("score: %p, &score[0]: %pWn",
score, &scorel0]);

printf(" A FA  MEwn);
for (inti = 0; 1 < SIZE; i++)

| score: 001BFCB8, &score[0]:

L=-"—11

001BFCBS8

*score: 89, score[0]: 89
8 F=A NEU
O OO1BFCBS8 89
1 001BFCBC 98
2 OO1BFCCO 76

printf("*score: %d, score[0]: %dWnWn", *

printf("%2d %10p %6d¥Wn", i, (score + i), *(score + I));

H{ 2 O| & scoreE Al
return O; j =AQl QA ZF A
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(ptrtoary.c) S
#include <stdio.h> a 3 J6 8
int main(void) { 1 36 8
Int "pa = a; %3P Hi{E A0 E2 1 3638
JJME MOist TOIE BAS AL \/

printf("%d %d %d %dwn", (pa) ( +
J/MZ Hoish ZOIE| W2 B Yt 20|
printf("%d %d %d %d¥n", pal0], pa[l],

printf("%d %d %d %dWn", a[0], a[1], a[2], a[3]);
printf("%d %d %d %d¥nWn", *a, *(@ + 1), *(a + 2), *(@ + 3));

return O Azl B 0|Z 0|83t &
} 2k Tts
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((char *)& (int +)2 W&l ptypecast.c)
#include <stdio.h> B
int main(void) { gg ﬁ

char c[4] = {'A', 'WO', 'W0', "W0' }; //=AF'A' 2 EZ}: 65

-

int *pi = (int *)&c[0]; TN S e S|EK] O
printf("%d %c#n", (int)c[0], c[O])

!

printf("%d %c¥n", *pi, (char)*pi);

return O;

}




b 7 =1

\ 4
¢

O|xHA HHEOIA HHEO0IS

O| XA HHEOIA Hi{E0[Z2I td
<+ H{E0|Z2l td= ZEQIE{Q| ZQIE{2] 0|= Z=E2IE]
int td[][3] = {{8, 5, 4}, {2, 7, 6}};

< H{EO|Z td= OIJ'CI H Y = C#ESl= 0|= =EQIE]
% sizeof(td)= HIL X F|2| HIO|E Z7|E HI

X H°"0|E tdE 0|=2510{ i td[01[0]2] &k

£l

= 202 =
'I'o
. **td 20; // td7} O|= EQIE{0|= = ZIE AR} 0] 274

o3 td[l]'_ (i+1) Hyl HS CHE
= (i+1) Huy el HSS 7}EI7I" FEOIE]| A
<+ sizeof(td[0])2} S|zeof(td[1])
22 3w el BlOLS 3719} & R Wel BloS 3718

< =*td[1] == td[1][0]

*
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(tdaryptr.c)

#include <stdio.h> (2 1H

#def!ne ROW 2 1010 10,555, 4 4 4,

#define COL 3 202020,777, 666,

int main(void) { 24 12 12
nt td[][COL] = {{8,5 4}{2 7,6 } ' n0cFrcas, 00CFFC88, 00CFFC94
wtd = 10; //td0NI0] = 10; | g crrcgs 0OCFFCO4
*d[1] = 20; //td[11[0] = 20; '

for (inti =0, cnt =0;i < ROW: i++) {
for (intj = 0; j < COL; j++, cnt++) {

printf("%d %d %d, ", *(*td + cnt), *(td[i] + j), *(*(td + 1) + )));
} [ td7} 25 ZQIE0|B 2 ]

printf("#n"); 25|9| ™A X E 3ffof
) 2 O|O|E{ 7} LI,
printf("%d, %d, %dWn", sizeof(td), sizeof(td[0]), sizeof(td[1]));
printf("%p, %p, %pWn", td, td[0], td[1]);
printf("%p, %pWn", &td[0][0], &td[1][0]);
return O;
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FEOIE| 2 (array of pointer)

¢ X0IEE Y HAE 6= Hi Y
inta=5,b=6,c=7;
int *pal[3];
pal0] = &a; pa[1] = &b pal[2]=&c;

double *pdal[5] = { NULL };
/| 2= HIE A0 NULL FE271 HE

[x86(32bhit) 22 a5t HA1}]

al 0]=6028520 a[1]=6028528 a2 ]=602

p1=6028520 p1+1=6028528

02=6028492 p2+1=6028496
*p2=6028520 *(p2+1)=6028528
p (p241) =

#include <stdio.h> /EHJ:S%JE%ZPQ A
int main(void) { p2 : 4% 25
int a[3][2] = { {1,2}, {3,4}, {5,6} }; p2 : 7t &= ofjof
int (xp1)[2] = a; a2 ot AHO| L=,
int xp2[2] = { al[0], a[1] };
printf("al0]=%u a[1]=%u a[2]=%utn", a[0], a[1], al2]);
printf("p1=%u p1+1=%uitn", p1, p1 + 1);
printf("p2=%u p2+1=%uttn", p2, p2 +1);
printf("*p2=%u *(p2+1)=%uttn", *p2, *(p2 + 1));
return O,
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(pointerarray.c )

#define CRT_SECURE_NO_WARNINGS
#include <stdio.h>
#define SIZE 3

int main(void) {
Int *pary[SIZE] = { NULL };
inta =10, b = 20, c = 30;

pary[0] = &a; pary[1] = &b; pary[2] = &¢;
for (inti = 0;i < SIZE; i++)
printf("*pary[%d] = %dWn", i, *paryli]);
for (inti = 0;i < SIZE; i++) {
scanf("%d", paryli]);
printf("%d, %d, %dW#n", a, b, ¢);
}

return O;

[Z1}]
*pary[0] = 10
*pary[1] = 20
*pary[2] = 30
1

1, 20, 30

2

1,2, 30

3

1,2, 3
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Hi2! EOIE{(pointer to array)

intal] ={8 2,8 1,3}
int *p = a;

printf( "%02d, %02dWn", *(p+1), *(p+4) );
printf( "%02d, %02dWn", p[0], p[4] );
printf( “%02d, %02dWn", sizeof(a), sizeof(p) );

¢ H{EO|Z a

< EQIE] &= (CIE FAUS 71 5 918.) (a++ EE= ++a QS
28 2315)
< s|zeof(a)'— Hiie| = HIO|E 37|21 20 = (5+4)
¢ H=Ep
X zt}°lE1 Ha (CI2 FAUS 71 5= 2US8.) (p++ EE ++p ¢14H0]
o
<+ sizeof(p)2 El&35| ECIE{C| 37|21 4
‘ -g-EI-I

*
\/

< alilet Z0] plil= HiE a2 =

©  p2a 2E HY a0 M YAS| FAZES I
=
—
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P ECETPRE
sizeof (H{220[|S) / sizeof (H{L A 4L)
» intarr[l = {1, 2, 3};
int count = sizeof(arr) / sizeof(arr[0]);
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O| Xl HH2| sHe| o~ 517

<+ sizeof(a) / sizeof(al[0])

¢ O|XIA Hjge| o] =~ H517|

<+ sizeof(al[0]) / sizeof(al0][0])
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(arraysize.c)

#include <stdio.h>
iInt main(void) {
int data[] ={3,4,5,7, 9}
printf("%d %dWn", sizeof(data), sizeof(data[0]));
printf(" 2 AR B D: B{E 37| == %d¥n",
sizeof(data) / sizeof(data[0]));
double x[][3]1 = {{1,2,3}{7,8 9}{4,5 6}{10, 11,12} };
printf("%d %d %d¥#n", sizeof(x), sizeof(x[0]), sizeof(x[0][0]));
int rowcount = sizeof(x) / sizeof(x[0]);
int colcount = sizeof(x[0]) / sizeof(x[0][0]);

printf("O| Xt H{E: W= == %d E == %dWn", rowcount, colcount);
printf("O| Xt H{E: T A 5= == %dWn", sizeof(x) / sizeof(x[0][0]));
return O; e
} 20 4
AKX H{E: HYE 37| ==
96 24 8
O|Xt3 HiE: =+ ==4 S == 3
O|X}& H L. MAH| A = ==12




